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A heticopter, inivally at rest, accelerates upward frow the
©ound at a rate a). When it reaches o beight H.,
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Coemture?
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A moall (uazy bunny s launched & dwtasce 1) frum W euige of o clatf of beight . The litthe rabiut reaches
o lwaximaw boght F D sbove its launels point (F b wane constaut), and nerTowly mumes the edge of Ue
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® T0) {10 poiuts)  How far from the base of the U8 dad the rabibiz baod?
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® lo) (10 poinds)  Whete will the Leboopter Le (with Tonpeet W thee gy il | when U ~rrat ug .
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® 1d) (5 poasta)  For bow boug » the creature 1o free-fall?
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® ) (Continued )
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3) Masses m; and m; are connected indirectly
cocflicients of static and kinetic friction between m and the horizontal table ou which it sits are p,

respectively
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How Iarge must gz be in order to set the system in motion”
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o 3b) (20 points)  Assume m; 1s sufficiently large to set the system in motion and find the acceleration

of each Dlock nnd the tension m cach rope
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o 3b) (Continured )

+ 0 and in the limit mo + 0

© 3¢) (5 points)  Evnlunte the acceleration of m; in the limnit that m;
Discuss your results (particularly if the result sems nonsensical or weird)
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